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Figure : The two-by-two checkerboard solves g = 2

g = g in red regions; schematically g(x,y) = g(x,y) =

Robert McCann (new: J Korman & C Seis) Optimal transport: old and new Guanajuato, 6 August 2013 11 / 32



Unexpected symmetries

Figure : g = g in red regions solves g = 3/2 above, g = 3 below

Robert McCann (new: J Korman & C Seis) Optimal transport: old and new Guanajuato, 6 August 2013 21 /32



Numerics (with help from B Wetton)

Constrained gbar =  4.00, N = 320

end location

01 02 03 04 05 06 07 08 09
start location

Figure : g = g in red regions solves g = 4.

Robert McCann (new: J Korman & C Seis) Optimal transpol Id and new najuato, 6 August 2013



